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1. WWWWWWW@WWWW?

(1) AT & e (2) femme Fee wh

(3) HaE (4) wfgEHt W

Which is the seventh place of India included in the ‘UNESCO World Heritage' list ?
(1) Rani Ki Vav (2) Himalayan National Park

(3) Sundarban (4) Western Ghats

2. mwmwwmmmm@mm?

(1) e () W1w1 (3) TAHAL (4)
Which virus disease is transmitted to humans from wild animals ?
(1) Ebola (2) HiINI1 (3) Yellow fever (4) Cholera

3w free T AR [ sieEer Wi B 2

(1) eTHA 2) SIS (3) SR (4) e
Which district was formerly known as ‘Saras nagri’ ?
(1) Akola (2) Amravati (3) Aurangabad  (4) Gondia
4. » _ TR OfYE wOE TEFTRATOETE FOAE .
(2) I ©) Fww (o fe (d) el
i 3
(1) R (), (). (©) (2) ®H (a), (b). (d)
(3) wH (), (c) (d) (4) wH (b), (¢}, (d)
, nagar parishads have been transformed into
Mahanagarpalika.
(a) Latur (b) Chandrapur (c) Hingoli (d) Parbhani
Answer options :
(1)  Only (a), (b). {c) (2} Only (@), (b). (d)
(3) Only (@) (). (@) (4) Only (b), (). (d)
5. Wﬁwﬁﬁwwﬁﬁwmm.
1) TR @ T @) ™ (4) SRR
The first Intelligence Academy of India is established at .
(1) Nagpur (2) latur (3) Pune (4) Aurangabad

ol FrEer 9E / SPACE FOR ROUGH WORK
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6. T G A RIvd) 92 ywfaed ?
(a) STHEEEH
(b) el Hfare oo
(c) Ok @ A areay
(d) o Ffid= ey
Tt I
(1) ®= (a), (b), (d) (2) ™ (b), (c), (d)
(3} W (a), (), (d) (4) B (a), (b), ()
Gopinath Munde held which of the positions ?
(a)  Deputy Chief Minister
(b) Central Cabinet Minister
(¢} Chairman of Public Accounts Committee
(d) Chairman of Estimates Committee
Answer options :
(1) Only (a), (b), (d) (2)  Only (b), (c), (d)
(3} Only (a), {c), (d) (4)  Only (a), (b), (c)
7. W Sgus fee o fe (BRICS) = S 2014 w41 fera wRwd Rt s e )
(1) e S=eTHe §F (2) g THoUH g
(3) Ay Swoudz dF (4) T Sxoude o=
Which multilateral development bank was set up during BRICS summit in July 2014 ?
(1) National Development Bank (2) New Development Bank
(3) Asia Development Bank (4) Brics Development Bank
8. WWWW@WWWWWW@WWW

FYTFRF 318 ?
1) 5% 2) 6% (3) 2.5% 4) 2%

According to the amendment to the Companies Act, what percentage of average net profit is
to be spent by the companies towards Corporate Social Responsibility (CSR) ?

1) 5% 2 6% (3) 2.5% @ 2%

el HIHIET ST / SPACE FOR ROUGH WORK
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o, I A STEATETER, WRATSA Ve AT W S e B 3 ?

(1) ITHEW (2) Temm (3) HHHYRW (4) wfm Tme

According to the report of the Rangrajan Committee, which state of India has the most

number of poor people ?

(1) Uttar Pradesh (2) Bihar (3) Madhya Pradesh ~ (4) West Bengal
10. 9FF %H o - (RAH ST

(a) TEEE B S (b) F A

(c) ifHe g (d) . AR TTECA

qUiEt S

1) @@ 0@ @ @b 6@ @b & @@

Arrange in an appropriate order - (Vice Presidents of India) :

(a) Mohammad Hamid Ansari (b) Krishan Kant

(c) Bhairon Singh Shekhawat (d) KR. Narayanan

Answer options :

M @ @b @ @b e @ @0eeE @ @ @), ()
11, Frown gatE R e faw e e T 3R 2

S97B96pN45
gt 39

(1) aMqeedve2 (2) eMqdgBIeR  (3) 2pNgeedreR  (4) 23\Beebl9p

Which of the options is a mirror reflection of the following group of symbols :
S97B96pN45

Answer options :

(1) aqaedvee (2) SMMqA9BRe2  (3) EANgeedree  (4) eoReebyTR

ST HHTETS |0 / SPACE FOR ROUGH WORK
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12,  HSHIS TahHE=AT AT FIRAM BV Sidh FoRE Fe Triest 7

B
ele

Taidt 39T ;

1 6 2) 8 (3) 10

What number should the missing hand point in the clock ?

oo
56

Answer options :

1 6 @) 8 3) 10

HoeAT HIAMETS AT / SPACE FOR ROUGH WORK
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13. SRR oA ST Gy Tael] Seiwe Ieeiwe Stad gatd fraen

® ©® O
® ©© ®
et
W ® ©O
it 39

1 WA @) FA (3) XA ) AW

Study the pattern of alphabets and select the appropriate option to replace the question
marks from left to right :

o ©O® O
REXD pU<E
®» ©® ©
® ©®,
GO WG
W ®O0 o
Answer options : .
(1 WA (2 FA (3) XA 4 AW
14, f9um e[ wde Rt 3 =i e

fem (1) : VR 1 @ eI Ten i, GO Wewr WIS,

faeam (2) - ST T YR At | s g fRA wawd e U ga e
it W

1y faum (1) TR () fowm (2) s

(3) e faum S (4) < faum g%

Read the statements carefully and choose the correct option from the following :
Statement (1) : Regur soil is mainly found in river basin and on plateau region.

Statement (2) : Red and Laterite soil is found in heavy rainfall region where as Grey soil is
found in coastal areas. '

Answer options :
(1) Statement (1) is true (2) Statement (2) is true
(3) Both statements are true (4) Both statements are false

oAl FTHITE 1 / SPACE FOR ROUGH WORK

P.T.O.
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15. FHIUET T2 SrE gEH SR 7

g
{a) (b) (c) (d) (e)

et 39y
(1) fa) (@ 2 (b). (e) (3) (@), (d) (4) (o)

Which two of the following figures are identical ?

[
@) (b) © (@) © o)

Answer options :

(e)

1) (@) () 2)  (b)(e) (3) (@ @ 4) (o),
16. =AY (i), (i), (i), (iv) 70 =R fafsr feerdt qe frewn ma. F ¥ auier qreawe gsa=n wyE T
FTEOIN 0T S,
BN
() (ii) (i) (iv)
Tt I
(1) D 2y A (3} E (49) B

Four different positions, (i), (ii), (iti) and (iv) of cube are given below. Find the aiphabet on

the face opposite to the face that shows alphabet F.

(iii) (iv)
Answer options :
(1) D 2) A (3) E (4) B

Tl FMEIE ST / SPACE FOR ROUGH WORK
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17. 3 feod wa anfdie faeneen ST Sevaren reafea a9 frvE s, fadt faned s
T €T T STEE TR S e 2 (auaR fafve den fefi w)

gt 39
(1) K+l+H+M (2) K+1+H
(3) K+I+J+L (4) IR SHvarESt WiEd e e

Study the following Venn representation in language speaking fluency of the students of a
class.

How many of them can speak only any of the three languages ? (Alphabets represent different
numbers)

Hindi

«———Marathi

Any one south

D Indian language
Answer options :
(1) K+I+H+M (2) K+I+H
(3) K+I+J+L (4) Data is not sufficient to find answera

HoAT HIWETE | / SPACE FOR ROUGH WORK
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eI ifed! AR I IR fo.

() A->BWUS AT B SEIHS 1 WewR AR,

(b) B« C=U B# C = <ferden 1 Fewr o,

() CID®US CH D= s9alse 1 Hewmr 3.

(d) DTE®'S DR E =1 Sutey 1 Hietaw .

(e) =iiw 5 feudia emieeg wfeem ity dis soier o,

e 38 TEie wfrsramiaEt M — N « T amed M =1 Heuid T Hivrean fodien o 2 v ?
it sy

(1) dF=3 (2) = (3) dwrg (4) g
Study the following information and answer the question given below :

{a) A — Bmeans A is 1 mt to the left of B.

(b) B <« Crmeans B is 1 mi to the south of C

(¢} CJ Dmeans Cis1mtto the right of D.

(d) DT E means Dis 1 mt to the North of E.

(¢) In all the above situations first person from the left is facing North

using the above meaning for the expression M — N « T; find in which direction T is with
respect to M ?

Answer options :

(1) North West (2) South West (3) North East {(4) South East

HEAT HIHHIG AT / SPACE FOR ROUGH WORK
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ﬁﬁ%ﬁmﬁmmﬁmmm.ﬁﬁﬁaﬁmwﬁwwawﬁ?mm
FS (1), (2), (3) T (4) Frswfen aramg &, 71 FrepeiiE HoEr/d faumen d@evia qsET
TR ?

frory ;. wd dmd dfe A
FTe e ATt ST
Frord : (1) G SiH EY 3.
(2) T e dHfe e,
(3) i ETE e SR
(4) Tt S AR e,
gt I
@) WEwaTEE wwWoFme @ FEE) @ @
Three statements given below appear to be meaningless. You have to consider these to be
true and study the four conclusions (1), (2), (3) and (4) drawn on the basis of these statements.
Then decide which of these conclusion/s logically follow these statements ?
Statements :  All hangers are diaries.
Some diaries are junctions.
Some junctions are thermometers.
Conclusions : (1) Some junctions are hangers.
(2) Some junctions are diaries.
(3) Some hangers are junctions.
(4) Some hangers are thermometers
Answer opfions :

(1) None of the four (2) Only (1) or (2) (3) Only (3) (4) Only 4)

5ol FHEE WO / SPACE FOR ROUGH WORK

P.T.O.
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@W%Wﬁéwmmnmmﬁﬁﬁmmwmﬁ%ﬁaﬁ.mmﬁ
mwmmw.ﬁﬁmamﬁamﬁ&mwﬁ/ﬁmﬁwmﬁ%a%

(1) TEa 1 sfaffeg ame (2) TEWE 11 Hafdfeq s
(3) T 19111 efafifem o (4) 1911 <=t Eias sfafffaa smiq
A statement is given below followed by two assumptions numbered [ and 1. An assumption
is something supposed to be or taken for granted. You have to consider the statement and
assumptions and decide which of the assumptions is/are implicit (indirectly suggested) in
the statement,
Statement : Principal told in parent. Teacher meeting-Those children who get
encouragement from parents, perform better in examination.
Assumptions : [ Some parents do not encourage children.
I Parents may follow principal’s advice.
Answer options :
(1) Assumption I is implicit (2)  Assumption II is implicit
(3)  Either Ior IT is implicit (4)  Both assumptions I and IT are implicit

21.

IS gfaad ferdt framror amem 7

et WY
(1) 25 (2) 24 (3) 23 (4) 20
How many triangles are there in the following image ?

Answer options :
(1y 25 (2) 24 3) 23 4) 20

- . —
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23.

e —

(1) 9, S, AT, SR

(2) T, o, A, sirmeng

(3)  eftme, s, 1, AT

(4) ST, A, O, AT

Arrange the area wise divisions of Maharashtra in desending order :
(1) Pune, Aurangabad, Nagpur, Amravati

(2) Kokan, Pune, Nashik, Aurangabad

(3) Aurangabad, Nashik, Pune, Amravati

(4) Aurangabad, Nashik, Pune, Nagpur

Wﬁqmamﬁmﬁmﬁaﬁﬁ%m@&ﬁmmmﬁwﬁm.
(a) f@%@fﬂt@mmwmﬂawﬁwaﬁ%mﬁ

(b) FERI RATSA] TH Fedl SeqrEAr=Al 20% IEA B,

() o Foeana Zam SeTe T .

LEIRIERE

(1) fau (@) o faem (b) S SR (2) FaaT (a) 0T Foe (c) SRS 3T
(3) faum (b) sufor e (c) ESErCICL] () faum (a), (b) SnfoT FOE (c) ={e Sed
A variety of fruits are produced in Maharashtra due to favourable soils and climate.
(a) Maximum land is used to produce fruits in Sindudrug district.

(b) Maharashtra produces 20% of Banana Production of India.

(c) Grapes are not cultivated in Latur district.

Answer options :

(1) Statements (a) and (b) are correct (2) Statements (a) and (c) are correct

(3) Statements (b) and (c) are correct (4) Statements (a), (b) and (c) are correct

oAl e wwm / SPACE FOR ROUGH WORK

P.T.O.
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24,

14

e e 4 i g

weH vt e
(a) TiiEem Hvi wew (i)  w=m, Tife
(b) Taem i @es - (i) wegaE, dvef
() fHaa i wes (i) T, Tefade
(d) uNEE v E@=w (iv) =E[
‘Rl'hﬁ a-iﬁ- :

(@ () (@ (@
1) @) @) @) )
(2) @) @) @) ()
() Gv) @) G (i)
@ O @) (v (i)

Match the following and choose the correct option :

Rock Series Districts
{(a) Gondwana rock series {i  Bhandara, Gondia
(b)  Vindhya rock series (i) Sawantwadi, Vengurla
{(¢)  Archean rock series (i)  Yavatmal, Gadchiroli

(d) Dharwad rock series (tv) Chandrapur
Answer options :

@ () () (@

1 @) @) @ @

@ @ G @ (v
@G v) @ i@
) @ @) Gv) (i)

25,

T w1/ S 9emd 1938 7l GIHSTHT FIoR GiTdt T e 7

(1) T frEem afd (2)  3&vT IR gfT

() FT9 wwA Hdh (4) T Afeen s

In 1938, which of the following was established by the Indian National Congress ?

(1)  National Planning Committee (2)  Untouchables Upliftment Committee
(3)  Press Freedom Committee (4)  National Womens Committee

HeEAT HIMTATE W / SPACE FOR ROUGH WORK
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t ; :
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N 4
e §
id 6
k' SNy o
v ) 4
\ o 3
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—r 1
\ ) |
Lo
\\ _r‘} o 308 Yeo Jeo
b WW&
i I
(1) T (2) e R (3) SEAmEe @) gTEet

Which mineral resource is found at the demarcated place in the map of
Maharashtra ?

al
‘_S La\ — / .J"“\_-_,__,\ /-\_._{_\
5 v ,
5 )
e
g ',_;'J -~ 7 S
; L
@ e 3
~
e f
i A |
L
3 A
\
\rr 6 {°e& oo Jeo .
’ smsdsmemtoo] frgde

Answer options :

(1) Bauxite (2) Coal (3) Dolomite .~ (4) Lime stone |

oot HTHIETS I / SPACE FOR ROUGH WORK
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27. 'ma@’wwwwmwmm@@wmmw
3T ?
(a) faggome gad (b) I Az
(c) FH Hedd (d) WU T
1) FH () @ @O @ GG @ @), )
During the ‘Quit India’ Movement who among the following were arrested for running an
underground radio station ?
(a)  Vitthalbhai Zaveri (b) Usha Mehta
(c) Nanak Motvet {d) Maniben Patel
(1) only (a) @ @ad® () Gad) (& () b and Q)
28. WIODIHT B ST SR ATE ?
(1) o A% g e - WA BIEX
(2) 91 A STy wfewIE - UiF He
(3) o Afee g - fear v
4) wfEe yrdg Fv gae - UeE SveE
Which among the following pairs is not matched correctly ?
(1)  Girls school at Poona - EM. Forster
{2)  Anath Balikashram - D.K. Karve
(3) Arya Mahila Samaj - Pandita Ramabai
(4)  Akhil Bharatiya Krushak Samaj - Punjabraoc Deshmukh
29, Ha‘fawawa%ﬁaaaﬁaﬁwg@ AT Fa 3R ?

(a) W& Aferamfea (b) nfufem sfuemiia
(c) Heorm st (d) AT st
it 3T

D @ad O @00 6 6.0d @ oo
What is the main jurisdiction of the Supreme Court ?

(@)  Original jurisdiction (b)  Appellate jurisdiction

(¢}  Advisory jurisdiction (d) Pardon jurisdiction

Answer options :

1) @ () @ @ (@, ®) (3 (b @© (d) 4) (@), (b), (@)

AT HIEIE ST/ SPACE FOR ROUGH WORK
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(1) e E TS () fage we i
(3) el a5 (4) TS TIORT ST

Who among the following strived incessantly for eradication of the social custom of ‘Murli
and Devdasi’ ?

(1) Gopal Hari Deshmukh (2) Vitthal Ramji Shinde

(3) Dhondo Keshav Karve (4) Gopal Ganesh Agarkar
/_//
31. SIS o

(a) SRR () FEERE 5

(b) @ (i) et foie

() Ha® (i) T HEd

(d) dfed wa (v) TOTE. AC

Tt I

@ (® @ @
M 6 @ @) @)
@ ) @) G @
@) @) @ (iv) (i)
@ v @ @O )

Match the following :

(2) Aatmoddhar (i) Kakasaheb Barve
(by Bharat (i) Dhanaji Birahde
(c) Sevak (i) S.N. Chaudhari
(d) Dalit Bharat (iv) S.N. Medhe

Answer options :
(@ ® © (@
1) 6 @ @ @
@ @) G @) 0
@ @) O ) @
(@ (v @) @O @
ﬂfﬁ—

E a2l wHTTETEr Snmn / SPACE FOR ROUGH WORK
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BIESIH! FH o Fedea T ?

1) ﬁmﬁwwﬁ,#ﬁwﬂawﬁ,ﬁwawwawﬁaﬁww.
(2) W HRem 9 LeRE FOIE T ge,

(3) ST Hist Hpeire AR Hie S we

(4)  EmEd T fAfd ),

Which is not a fundamental duty ?

(1) To abide by the Constitution and respect its ideais and institutions, the National Flag
and the National Anthem.,

(2)  To defend the country and render National Service when called upon to do so.
(3)  To value and preserve the rich heritage of the country’s composite culture.
(4) To establish panchayat Raj system.

33. Hoyd Ayt wefa o m = oy A Fatd fehrerss v’ o F9 e,
(1) ¥R ST e (2) =i s TR
(3) HER FoUNE e (4) =lotst uwd
Part Il dealing with the fundamental rights is described by as the “most criticized
part”.
(1) Pandit Jawaharlal Nehru (2) Dr. Rajendra Prasad
(3) Sardar Vallabhbhai Patel {4)  None of the above
34. I FW O - (Y@ Fdsd)

(a) TS F RIATATE §9T F:I0

(b) WA Fod= T Ty

(©) ufifed Tafaroms wrewr w0

(d)  RAT= Wi TET T80T Fo)

it 39y

M @00 @ @ (@@, /c),b B @ 0L @ (), w), ©

Arrange in an appropriate order (Fundamental duties) :
(@) To respect the National Flag and National Anthem
(b)  To safeguard public property

(c)  To protect the natural environment

(d) To protect the sovereighty of India

Answer options :

M @6 @ @ e @ @ b (d),© @ () @ @)@

ST HIHEE A / SPACE FOR ROUGH WORK
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35. T TISHETEN R0 FOUE HHE AT HIEET aXqs e
(1) 48 (2) 44 (3) 46 (4) 50
Which Article of the Indian Constitution Provides for Common Civil Code ?
(1) 48 (2) 44 (3) 46 (4) 50
36. 42 = W CEREN SERAUTHA » aor g SEgvamd
.
(a) TAEEE () wHPRIW () W (d) T O
Tt 3
(1) " (a), (), (©) (2) wE (a), (b), (d)
(3) wH (b), () (d) 4 T (a), © (d)
The 4274 Constitutional Amendment added to the Preamble the words .
and :
(a) Socialist (b) Secular () Republic (d) Unity of the nation
Answer options :
(1)  Only (a), (b). (¢) (2)  Only (a), (b), (d)
(3)  Only (b), {c), (d) (4) Only (a), (), (d)
37. e o (TR PR )
) 31' ‘a.l
(a) T EA FidaH (i) =T 40
(b) T €Al (i) TS 50
() iR srufeRTEa dTe w0 (i) TS 44
(d) EHA T HiE (iv) IFT=T 48
it I
@ (b (9 (d
1 @ @ g )
@ @ @O @) ()
(3 (v (@) (@ (i)
(4) Gvy () G (i)
Match the pairs (Directive Principles of State Policy) :
IAF JB’
(a) Prohibition of cow slaughter (i)  Article 40
(b) Organisation of village panchayats (i) Article 50
(c) Separation of judiciary from the executive  (iii) Article 44
(d) Uniform Civil Code (iv) Article 48

Answer options :

(a () (o
1) () () G )
2 ) ) @) @)
3 (v) () @) ()
4) () () (@) (i)

d)

et

[

—

ST SHIUTETSr S / SPACE FOR ROUGH WORK
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38.

20 A

"I A wifed stfusr sifufram 2005 @l wraEta wifvsonde sfrwrrEl Satsas
Hifedt feet 1% wioka @Y, § G .

(1) e 3T (2) aUE AR

(3) AU I T I TUK 2% (4) HI v AE

“The personal information of officials of public authority can not be given to the citizens of
India under the Right to Information Act, 2005’. This statement is

(1) Wrong {2) Correct
(3) Partly wrong and partly correct (4) Can't say

39.

Tt . 1 afort IS . 2 B
(a) THT THE () Tafew TR
(b) TOVA &R (i) W TFTT
(c) =, TH@, sEEl (iil) FATSTT T
(d) =Ef@ aAfysn (iv) SAfEhdt e
ytet I

(@ () () (@

(
(iv) (?ii) @ (i)

(1)

2) @ vy (i) (i)
(3) @y @ (@) (i
(4 @ (@) @Gv) 3)

Match the features of the Indian Constitution with their sources

Use correct codes.

List 1 - Features List 2 - Sources
(a) Single Citizenship (f)  British Constitution
(b) Fundamental Rights (i) French Constitution
{¢) Liberty, equality and fraternity ~ (iij) Canadian Constitution

{d) Residual powers {iv) United States Constitution
Answer options :

(@ (b (@ (@)
(

{1) (v) () @ (i)
2 O @) @ (i)
(3) @) () (v) (i)
@) @ (@) @Gv) (i)

Sl HIHTETS AR / SPACE FOR ROUGH WORK
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s, aEE FE e T e ?

(1) S fHe Garon HRE . 1909
(2) wiewn TETETH T . 1918
(3) e LoC) . 1915
(4) W= FrERTE QU . 1919
Which one of the following pairs is incorrectly matched ?
(1) Morley Minto Reforms Act : 1909
(2) End of World War I : 1918
(3) Partition of Bengal : 1915
(4) Montague Chelmsford Reforms 1919
41, T weEd H : afon ¥ R
(a) S D (b) EE R
(¢) waral® F (@) A
it I
1) wH @) b) @ @ FH ®), ) @ @) FH @) b)) (@) R (@) (© (@
The taxes related to the states are , and .
(@) Land Revenue (b) Stamp Duty
{c) Taxes on Passengers (d) Corporation Tax

Answer options :

(1) Only (a), (b), () 2) Only ), (), (d) (3) Only (@), (), (d) (4) Only (@), ey d)

-

40, wifedan atfusR SatTEs 2005qumm@ﬁwﬁﬁmﬁawﬁmwmafm
fafga == ?
(1) Wﬂﬂ?ﬁ?@ﬁm?ﬁ?ﬁ‘jﬂﬁimﬂmm@ﬁ
@) maﬂaﬂﬁrammﬁwmmm.
(3) ST S w e
(4) o TEE TR

As per the Right to Information Act, 2005 which of the powers of the Civil Court are not
vested in the Information Commission ?

(1) Compelling to give oral or written evidence on oath
(2) Issuing summons for examination of witnesses
3 Preseribing punishment to the persons

(4) None of the above

e
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If the information reqr-zsted is held by another public authority, then the public authority
receiving such an application shall transfer it within days from its receipt.

1 3 ) 5 (3) 7 (4) 10
4. wfedisn siftmam sfafem 2005 WWWWW ST ymet

(1) STERMTe mftdi=t 7RO ey

(2) LT AT, 379t foban feremye ot anfie o1
(3) memwm

(4) oo

As per the Right to Information Act, 2005 on which of the following grounds a penalty can
be imposed on the public Information officer ?

(1) Malafidely denied the information
(2) Knowingly gave incorrect, incomplete or misleading information

(3)  Destroyed information which was the subject of the request

(4)  All the above

(1) =% ome (2) =0 o

(1)  Wrong (2) Correct
(3) Partly wrong and partly correct 4) Can't say

m__‘_\i\x_‘__ﬁ‘—%;—\\_‘__
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e W9 HEE, 2000 4 EaRiT (Hacking) HTAREA HERIEIGE T gafawt
e,

(1) Wgaquhwgwmza@wﬁgaw%

() wmwﬁ%g&nama?wmzquﬂaﬁawﬁ

(3) Waaégéﬁmaumlmmawhé@awﬁ

(4) =t el

According to IT Act 2000, punishment for Hacking with computer system is
(1) upto 3 years imprisonment or fine upto 2 lakh rupees or both

) upto 3 months imprisonment or fine upto 2 lakh rupees or both

) upto 3 years imprisonment or fine upto one lakh rupees or both

) none of the above

47,

ptedireed’ 1 freen < e fasled Hod e & = T FA.
(1) ErErE g (2) faugrsn Tl Gl
(3) e S (4) aYHT AR
“Polysensors” developed by media lab asia is used to monitor __
(1) Purity of Gold (2)  Quality of drinking water
(3)  Quality of roads (4) None of the above

48,

TEtE HIUE AFES (utihty)f«?fms’ma?fmﬁummw T ?
(1) NBSTAT (TIHIEE) (2) Net stat (42 )
3) Ping (f9) (4) Hostname (gre=9)

Which utility is useful for finding the local host name ?
(1) NBSTAT (2) Net stat (3) Ping (4) Host name

49.

Data Link (11 @) level (ﬂ'l?‘l'&?() =1 g1 (Error Detection) TgdA MeEedl
STdld

(1) a2 &HI (Bit stuffing)

() wsfaes figgdt #E (Cyclic Redundancy Code)
(3) £ &g (Hamming Code)

(4) deoEaEeA (Equalisation)

Error Detection at Data Link level is achieved by method.
(1)  Bit stuffing (2) Cyclic Redundancy Code
(3) Hamming Code (4) Equalisation

e TSl ST / SPACE FOR ROUGH WORK
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50. T C Iz Haie W (subnet mask) HA: WIGIGUST 1M1 0] ?
(1) 127.0.0.1 (2) 255.0.0.0 (3} 255.255.0.0 (4) 255.255.255.0
‘What is the default subret mask for a class C network ?
(1) 127.0.0.1 (2)  255.0.0.0 (3) 255.255.0.0  (4) 255.255.955.0
51. T e mwmwmmmwmm@é
ST, e, 1 o siarg FvamEEt ars .
(1) WERefEn (7))  fissfin = (3) 39 3w (4) R FRHIR
is used on internet or by other electronic means to stalk or harass an individual
Or a group or an organization. It may include false accusations, defamation, slander and
libel.
(1)  Cyber Stalking (2) Fishing Scam  (3) DOS Attack {(4)  Cyber Warfare
52. w@idelEt %, U (device) TH LAN YA GEN LAN 949 (Frames) 3 weift
(transmit) FRUATAIST YT,
(1) WFx (2 faw (3) fdtex (4) #em
A device used to transmit frames from one AN to another LAN is known as
(1) router (2) bridge (3) repeater (4) modem
53. W WiNRE HTMLE ™ Hferad € g
(1) wrsite 2 dorsmz e
(2) E STl Twde P
(3) TIHIE IRL wHIY e
(4) TV T Hh S
In computer terminology HTML stands for :
(1)  Hybrid Tech Management Language
(2)  Higher Technology Maragement Language
(3) Hybrid Text Markup Language
{4) Hyper Text Markup Language
54. TN See Mo W e e THTA (packets) TN T=a weq output T

(queue), TFT T FHS (TAHT) W AVEE d o Routing algorithm (YvIef) amotg
I ? _

(1) e 9 W (routing) () v

(3) e w=ein 4) ST U

A computer in a network forwards incoming packets by placing thern on its shortest output
queue. What routing algorithm is being used ?

(1) hot potato routing (2) flooding

(3)  static routing (4)  delta routing

Hoel HIHTER ST / SPACE FOR ROUGH WORK
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55. a1 UF T UH,UE, S S-S HO W e, e ARG T
H{od ST AR
(1) T, UEELTE (WSDL) (2) SRHLEL (RPC)
(3) €I (SOAP) (4) 3JI=Eam. (UDD))
is a protocol for exchanging XML documents, typically but not necessarily with
the help of HTTP.
(1) WSDL (2) RPC (3) SOAP (4) UDDI
56. TwAM e Teaa Y ST TG Her wEe T g T Ee s
FEG F6 TR,
(1) 51% wegr=a
(2) TSR @O S HAEA HIOME S AT He
(3)  75% HEET=N
() aXoiE! THE AR
Parliament can legislate on a matter in state list in the national interest if Rajyasabha passes
a resolution supported by not less than
(1) 51% of members
(2) two thirds of members present and voting
(3} 75% of members
(4) None of the above
57. Qo faum faema =mn

(a) FER SR ey HITEE B AHERON Fo! TR TR

(b) WWWHWHWWWme.
et I

(1) faum () T, (b) T (2) T (@) THTS, (b) T

(3) 2 foram s @) o faum g

Consider the following statements :

(a) No tax shall be levied except by authority of law.

(b} Levy can be imposed either by executive action or by the resolution of a House.
Answer options : '

(1) Statement (a) is correct, (b) is false (2) Statement (a) is false, (b) is correct
(3) Both the statements are correct (4) Both the statements are false
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58. 'gerETE’ (INTOSAD & U& HITUE WO 3R, Goeies! (RAS) S0 41 Woeiv gafid
AR ?
(1) v el e
(2) WA WSS IO
(3) WA fra=E anftn wereaT T
(4) HSA THA K

‘INTOSAT is an international organisation. Who from amongst the following is associated
with this organisation ?

(1) Attorney General of India
(2) Solicitor General of India
(3) Comptroller and Auditor General of India

(4)  Chief Vigilance Commissioner

59. TN a1 AYF MRS THU MHGHET TeUHYETTd 378 idrd, TR TeiE ]
BIREEA FGE] BN ?

(1) w8 van w5 (2) TS Qeqr Y
(3) 33T YaT FH (4) UH TR YN FHH
A group grampanchayat is formed of two or more villages when they have a population of
each,
(1) Less than Six Hundred (2) Less than Seven Hundred
(3) Less than Eight Hundred (4) Less than one Thousand
60. 'SR ==l IR FOAEE GEe RIS R (Notice)maﬁwﬁ.
(1) |Tadl/ sTeae (2) Hhl TD
(3) wafud s ' (4) oo gaf
For raising the “discussion for short duration” a member has to give notice to the :
(1) Speaker/Chairman (2) Secretary General
{3) Minister Concerned (4) All the above
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e FHOTEEA WW@{W faum drs

61.
(1) SR 370 IS 94T U Hewdwd Te Wgd 90 W
(2) 1 TSFRTA TEAT ATE N US4 TSR SUAN oo R foeg S WHFfer wagH
Fo T wva afsie 38 @
(3) THAETEHAG a1 TR UEE HHG Hel W
(4) TR TETN HCETE Y TSR U4 3T T TS e Ao el S e $w <6
Fo1 1 @M TS Rewne T @
Identify the incorrect statement regarding Disqualification on the grounds of defection :
(1}  if he has voluntarily given up his membership of such a political party.
(2)  if he votes or abstains from voting in the House contrary to any direction issued by the
political party to which he belongs.
(3)  if he joins another political party after election.
(4)  if his original political party merges with another political party and he claims that he
has not accepted the merger. '
62. 1962 Hfte Fasum=Es nene faurmsms MBI
(1) 288 (2) 282 (3) 264 (4) 270
Maharashtra Legislative Assembly had ____ seats during 1962 elections.
(1) 288 2y 282 (3) 264 (4) 270
63. guiiys Hag weumen fAfdd EIRCE MBI
(1) 17 1960 (2) 1 r=gE 1956
(3) 1% 196 _ (4) 11 1975
The bilingual Bombay State was created on .
(1) 1%t May 1960 (2) 1%t November 1956
(3) 15t May 1966 : (4) 15 June 1975
64. VG THFRS HHHN A(uh FEehilea e BT Tl FoErE SAfHR .
(TSR Irg 7= Haen)
1) ®E @) fm (3) TR (4) —=HeE
The President has the authority to make for more convenient transaction of the
business of the Government of India. (Choose from amongst the following the perfect term)
(1) laws (2) rules (3) amendments  (4) arrangements
65. WERE Tod qAET HewAed WA AR
1 g% @ () TR (4) =i
Directorate of Technical Education, Maharashtra State is located at .
(1)  Mumbai (2) Pune (3) Nagpur (4) Vashi
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66. HE-TY TIHHE GauETed @rare fHur fo=amm =i

(a) UETAS FRGR AHFN AT 83 AV hIVmE! SeiEsdi=t w6 T yreame
TR o eTee e @ Afueraiee qyd Siye femed dfaa 3de,

(b) TEREN [T IATAT FrwH AF=N AT 49 90 3T HIVER oo g i

Eritc)
Tt I

(1) faum (a) s (b) THH (2) fAuA (a) TR (b) TR

(3) < faur st @) S faury g

Consider the following statements with regard to administrative relations of Union and

State :

{a) The President may without the consent of the Government of a state, entrust either
conditionally or unconditionally to that Govt. or to its officers functions in relation to
any matter to which the executive power of the Union extends.

(b) The Governor of a State may, with the consent of the Govt. of India, entrust either
conditionally or unconditionally to that Govt. or to its officers functions in relation to
any matter to which the executive power of the State extends.

Answer options :
(1) Statement (a) is correct (b) is false (2) Statement (a) is false (b) is correct

{3) Both the statements are correct (4) Both the statements are false

67. W e SgEr AR FEA e i wegareih Wsiftd Sturen SHauil Su @ Seetiaie
IO e EAHS 9d.

(1) T = 2) &g

(B) ™ (4) e o1 T aTEm

A company producing medic‘inal and toilet preparations containing alcohol or opium pays
excise duty for those products to the government.

(1) Local self (2) Central

(3) State (4) Both central and state
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68. AU AYARIAET WO fAUFIGeh! R A e S ?
(1) Taurgs HALaemE Jeeed gL A 30 gl STHAHT T HUTER AT
TR Fo TR
(2) T A STE Vg HTHGRTS W S AT AR
(3) T STE SR 311 WA WUTERTIH W ufgears g e w6
(4) T 379 SUAER GHEHH Td faroll Ay foiad 79 < R A
Which of the following statements regarding speaker of Legislative Assembly is false ?
(1)  The Speaker does not preside when a resolution for his removal is under consideration
of the Assembly.
(2) He cannot be presént in the House and take part in the proceedings.
(3) He can vote only in the first instant on such resolution like an ordinary member.
(4) He cannot exercise a casting vote in case of a tie on such a resolution.
69. WE fauM fa=r =

(a) T SRR ST €T T T, S fehel e R A Hw
Tt FroiaTeRtan TUE FYd 95,

(b) ST FER G A W e e o S =aareare At
AT AR A e e HEST FAEER FA F.

©) R - e TR v AT ST BT e Rt e AT
AfFR e

Fiets HIvA faum ™ R ?
(1) (a) BK (2) (b) &
(3) (c) wH (4) RIOTAE AR

Consider the following statements :

(a) Parliament may by law provide for adjudication of any dispute with respect to the use,
distribution or control of the water of inter state river.

(b) Parliament may by law provide that neither the Supreme Court nor any other Court
shall exercise jurisdiction in respect of any such dispute.

() The Water Disputes Act empowers the Central Govt. to set up a tribunal for the
adjudication of any such dispute.

Which of the above statements is not true ?
(1) f(a) only (2) (b)only
(3) () only (4) None of the above
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70. @Wmmmwmmmﬁwmmm?

(1) ¥4 HeRrg | (2) IR WY T

(3) HgH HIRTE AfHet (4) WENTRER! FEY

Which of the following organisations most actively participated in the Samyukta Maharashtra
Movement ?

(1) Samyukta Maharashtra Sabha (2) Samyukta Maharashtra Parishad
(3) Samyukta Maharashira Samiti {4} Maharashtrawadi Congress Party

71 Welted e Wrewte SR fam set o ?

(1) weifee =T 7e sttt (original jurisdiction) 31747g 3112

(2) @ngﬂmmmmaﬁawwm.

(3) WA AR A AR o frota s sy e et TEe ST davy
e,

(4) Wele e v wat= =rerTET ¥ SR e SEa,

Which of the following statements with regard to the Supreme Court of India is correct ?

(1) The original jurisdiction of Supreme Court is unlimited.

(2} A dispute between one state and another state can only be dealt with by the Supreme
Court.

{3) The Supreme Court must admit appeal from any judgement or order made by any

court.
(4)  All courts including the Supreme Court are bound by a Supreme Court decision.

72. &G faufda e gfony . _
(a) ﬁwﬁawﬁwmﬁwﬁamﬁﬁwm@ﬁ
(b) ﬁwﬁﬁaﬁ%ﬁ%,aﬁwﬁﬁﬁmmwmaaﬁ.ww

() mﬁﬁm%@éﬁﬁwﬁgmﬁ%uﬁmmﬁﬁaﬁ.

(d) R T HoR R e Tgadies AR Tefas wte @ ¥ w o,

ST FIUR fGum ST TR ?

(1) (a), (c) nf (d) (2} (2), (b) 3701 ()

(3) (@), (0) s (d) @) @ (), (0) = (d)

Effects of Dissolution of Lok Sabha :

{a)  All business pending before it or any of its committees lapses.

(b)  All Bills pending in the Lok Sabha, whether originating in the House or transmitted to

~ it by the Rajya Sabha, lapse.

{c)  Bills passed by the Lok Sabha but which have not been dispossed of and are pending in
Rajya Sabha, lapse.

(d)  Bills passed by the both the Houses and sent to President for assent, lapse.

Which of the above statements are correct ?

(1) (a), (J) and (d) (2) (@) (b) and (o

(3) (b (0) and (d) (4) (@), (b), (c) and (d)
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73. WOUH HUG faEH SOeT AT ?
(1) HHE ¥ E&T=A1 YETa 960 H& .

(2) TEE YSYd THFFIH O8O FE TR
(3) ERAGER] [ETHR hdc Ahddord Hal 39 .
(4) WRAW N T R H, WEAHSHHN SRR HEAEaTe! @i T Sar.

Which of the following statements is not correct ?

(1) Parliament can amend the procedure for amendment of the Constitution.

(2) Parliament can amend the Fundamental Rights.
(3) Amendment of the Constitution can be initiated only by Lok Sabha.
(4) InIndia, there is a practice that the Attorncy General also resigns on the Iresignation of
the council of Ministers.
74. -GHIYT WA § WG TR T AR,
(1) i HaveEmE (2) @ HAAITE
(3) YEmd TS HaeT (4) T fasr HaTegTE
Department of Land Resources is a part of of Government of India.
(1) Ministry of Agriculture (2) Ministry of Mines
(3) Ministry of Panchayati Raj (4) Ministry of Rural Development

75. USUdl TAGTH I GAGT TAH T geearal Fe #1m ?
(1) dEHE, TS, Hol M0 Fars §an
(2) W, M, HS A0 FHS A
(3) HESEIES, W, HiEl, wo
(4) HHSRNEA, 0, SE, Hie
President nominates members of the Rajyasabha from the following fields

(1) Literature, Science, Art and Social Service

(2) Science, Technology, Art and Social Service
(3) Social Sciences, Music, Sports, Art
(4)  Social Sciences, Dance, Music, Sports
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76. Srpgdal Hew viafed qRiwd 9 SR 0 <l TR T ST 9 feremE
¥ e,
(1y 2 (2) 3 3) 5 (4) 10
A member of the Lok Sabha cannot ask more than _ questions a day of both the
starred and the unstarred categories.
(1) 2 2y 3 (3) 5 (4) 10
77. WO@TH! Fv faye w8 2

(a) HHEH W HHE 9 ST AWE GAT WU A ST,

(b) meawmﬁ@wmw.

(c) RAT TeasA WU WHeiamEa T g Foo! e, Ty T eod HE Femed
WO AR

Tt F

(1) (@) ®x (2)  (b) K (3) () B (4) S FOWE T
Which of the following statements is nof correct ?

(a) Parliamentary committees act as liaison between the parliament and the people.

(b) Parliamentary committees act as liaison between the government and the people.

(¢} The constitution of India does not make any specific provision in regard to parliamentary
committees, but these are mentioned in several articles.

Answer options :

(1) (a) only (2) (b)only (3)  (c) only (4) None of the above
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78. HUSH ATUFHEET SieaT o
EEA T T
(a) 248 () U fearnet TagEde ametdet fafuftam s
(b) 249 (i W] g fohan TeayE! am el T T ROe B! A fafufam
T
(©) 250 (ifi) STALA FAUH ARGIAFN SR fafuftan wwo.
(d) 253 (iv) SISO ESon S SEdiT e BT aEsd fafafem
F,
qgiEt 39T
(@) () (9 (d)
L @ @) ) (v)
(2) () @ @v) (i)
3 @) @ & @
4) vy (@) @@ )
Match the pairs with regard to the powers of the Parliament :
Article Provision
(a) 248 (i)  to legislate with respect to a matter in the State List in the National
Interest.
(b)y 249 (i) to make any law with respect to any matter not enumerated in the
concurrent List or State List.
(c} 250 (ili) to legislate for giving effect to international agreements
(d)y 253° (iv) to legislate with respect to any matter in the State List if a
proclamation of Emergency is in operation.
Answer options :
(@ (b)) (@ )
O O @ @ (v
(2) (@ @) @v) (i)
(3) i) @ ()
4 (v) G) @@
79. THISA IR WUNEAl TEU 45 Tt wfvwn ok, @iw W 9 grern faew
TS S T Wie .
1) 30 ) 24 Gy 27 4 31

There are 45 standing committees of the two Houses of Parliament, of these

are

joint standing committees of the two Houses.

ey

30

(2) 24 (@) 27 (4 31
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80.

34 A
VI Ifee ITAAT HI07 Bid ?
(1) = A (2) TH. FHIEITTH AR
(3) Wit ge (4) AF. fagaed
Who was the first deputy speaker of Loksabha ? :
(1) G.V. Mavlankar (2) M. Ananthasayanam Ayyanga
(3) Kariya Munda (4) TX. Vishwanathan

81.

T BV TR T (AT ST e &5 S 91 A

(a) TF VN OIS Bedl. - '

(b) dF =EEE _

(c) AT amfor wTy g AT YA

(d) I=d AT SATHER

it 3T ,

(1) = (b) 2 ©F@ (3) . e (d) @) @@ d
Which of the following provisions are not a part of the union list of division of powers in the
Indian Constitution ?

(a) Lotteries organised by the government of a state

(b) Banking '

(c) Fstablishment of standards of weight and measure

(d) Officers of High Court
Answer options :

(1) Only (b) (2) (9)and (d) (3) Only(d = (4 (a) (c)and(d)
82. g T Hew Tl Yoy Hewldio Tgaiw aiqal IRdd TogseTeal ‘ RTHE ST,
(1) e (2) HHTE (3) C 4y Hee
Majority of the provisions regarding centre-state relations are included in part
of the Indian Constitution. .
(1) ninth (2) eleventh _ (3) thirteenth. (4) sixteenth
83, WWEAEC! Hefed HTOAET THE AT [T FOH FHIE e HIIE AT
e '
(1) 39 () {2) 40 (3) 43 (31) (4) 44
The provision for organising Village Panchayats is included in article no. of the
Indian Constitution.
(1) 39 (A) (2) 40 (3) 43 (A) 4y 44
84, e WA T TaUST ET G el TG HUART ST,
(1) 1951 (2) 1926 (3) 1917 (4) 1971
All India institute of Local Self Government was established in .
(1) 1951 (2) 1926 (3) 1917 (4) 1971
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85. TER T, TR T SOTEE! R S EE ST S S ?
(1) w1 S SEEEA 25 TR T wEn A SEE
2) I A For T e O AAIV 75 THRAT B T
(3) (1) et (2) =
4) (1) @nfor (2) ¥ o TR
What are the requirements for establishing a municipal committee in Maharashtra ?
(1) Population of that area is Twenty Five thousand or more
(2) The percentage of non agricultural professionals is not less than Seventy Five percent
(3) (1) and (2) both
(4)  Neither (1) nor (2)
86. HE STR faemmm=d EcEARCI G
1 = 2 7 3) 8 (4) 87
Mumbai Suburban district has villages.
(1) Zero (2) 7 3) 8 (4) 87
g7, Foiee P anfor foee Wew T FHIvars e F.
(1) FEE TEE g (2) TS SfEr wfeds
(3) woddA T Wi (4) e wde Wi
Constitution of District Planning and Development Boards was recommended by the
committee.
(1) Vasantrao Naik Committee (2) L.N. Bongirwar Committee
(3) Balwantrai Mehta Comunittee (4) P.B. Patil Committee
88. ¥-UdEA & e T T U 3- T AHE T T JheT S,
(1) 2006 (2) 2011 (3) 2012 4) 2013
E - Panchayat is one of the projects approved under the National E - Governance Plan
introduced in .
(1) 2006 (2) 2011 (3) 2012 @) 2013
89. TENISTA HHU fawrTHER RIS
1) 4 2 8 @ 5 4) 7
There are Municipal Corporations in the Konkan Division of Maharashtra.
1) 4 2) 8 3 > 4 7
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90. TR T YA WV YIME TNfTeh TOE Uy Fl 79 e el Suarnet somt
aftret Frgea Fa 8 ?
(1) <oadE Hea windt (2) HaUE TEF
(3) iR Hear WiHa 4) Sh=F 19 gird
Which committee was appointed by the Maharashtra State Government to recommend the
nature of Local Self Government ?
(1) Balwantrai Mehata Committee (2) Vasantrao Naik Committee
(3) Ashok Mehata Committee (4) G.VK. Rao Committee
91. WEMTRUIOHS Gotount ST AEE S S0 GUTHE 3R ?

(a) Tooar=m woarEh sgEE w0

(b) YRUT AARSATAT LA S
(c) VU fearme= sawen &

(d) ==, gagEt A Jam

(e) VA Aonan foyamerat g Sl

Fhet®H Hor fagm/ faur staT aga?
(1} (a), (b) 3T (c) (2)  (a), (c) M (e)
(3) (@) (b) T (d) () (a), () 37T (d)

What are the compulsory functions of a municipal corporation ?
(a) To arrange for drinking water

(b) To arrange for entertainment places in the city

(c) To arrange street lights in the city

(d) To register births and deaths

(¢) To register marriages in the city

Which of the statements given above is/are correct ?

(1) (), (b) and (0 (2) (@) (0) and (¢)

(3)  (a) (b) and (d) (4) (), (¢} and (d)
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(a) Trafia fraguysn dwE
(b) HHTSES goe Heawtd gL yiafie

() orgd

(d) &z gRT o FrE

Tt 3

(1) Fao (d) T TR (2) FAB (a) TR AR
(3) (), (b) ST (c) U 2Te (4) o (b) TEL 3R

Panchayati Raj institutions are there since 1952 but they haven't acquired the required status

because of :
(a) absence of regular elections.

(b)  insufficient representation of the weaker sections of the society.

(c) inadequate powers
(d) inadequate control of the Central Government
Answer options :

(1) Only (d} is correct (2)  Only (a) is correct

(3) (a), (b) and (c) are correct (4) Only (b) is correct
93. A 1772 T oeefied gerE i S,

(1) at et (2) EAAS FHEIES

(3) UferEd (4) @ du

o __introduced the office of the District Collector in 1772.

(1) Warren Hastings ) (2)  Sir George Campbell

(3) Elphinstone (4) Lord Rippon

94, THTER WG HIVEN TEHYE SHN Hid &I 2
(1) T &
(2) fa=t meye
(3) TR wreiel fewa ol
(4) =i T vata I
The Mamtatdar does not collect :
(1) Tagai Loans
(2) Irrigation Revenue

(3) Defaults in the payments of other departments
(4) None of the above option is correct
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95. ATy ST A
et fawmd wdwn T8
(a) FAVTEA TR TSI AT G 1993 - 94
(b) EHTE AiagH FEH T (i) 1999
(c) HaTU TR A5 (iti) 1997
(dy @F A& TR (iv) 2002
e I
(@ (b) () (d)
1)y G vy @ (@)
2y ) @) @ W)
@ O @) @) @
4) @) @ @) ()
Match the following :
Urban Development Programme Years
(a) Suwarna Jayanti Urban Employment scheme i 1993 -94
(b) Walmiki Ambedkar Awas Yojana (i) 1999
(¢) Prime Minister Employment scheme (i) 1997
(d) Lok Awas Yojana {iv) 2002
Answer options :
@ ® (9 (@
1 G ) @O @
() G) @) H W)
@ O ) @) @
@ @ 0 @ @
96. Wlaumrem _ ST{SEFER ‘Haled AEHN WER O wTE ARATS qYSIE 94
ST SHTHTF IS .
O 131 2) 141 3) 151 @) 161
Article of the Constitution provides that, ‘the law declared by the Supreme
Court shall be binding on all courts within the territory of India’.
(1) 131 2) 141 (3) 151 (4) 161
97. I foban stfus T=ATEISt wHI S=0 <o TR FUAT StfyeR 3.
1) HEe (2) Wl AEEE  (3) R @) FEER
The has power to establish a common High Court for two or more states.

(1) Parliament {2) Supreme Court (3) Law Minister (4) Chief Minister
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98. SHfed Fif=eh & Heaheo l T8I YT & qeme SYIE T8,
(1) < s (2) ofwfe dgei@ (3) o FRISENE (4) Uod FERl IR
The concept of Public Interest Litigation is based on following Roman Law Maxim.

(1) Audi Partem  (2) Actio Popularis (3) De facto litigate (4) Public facto lit

99. ' YNGTsAl WAt =IAeAel AfURT AdHETr 91 STUReR HYeid wrHEl 1 3Ed 4a - € ey
AR,
(1) == 2) =%
(3) vE: T T AT TF (4) HI wehd T

“The Indian Supreme Court can declare a Legislative Law void on the grounds of Ultra
Virus’. This statement is _

(1) Correct (2) Wrong
(3) Partly correct and partly wrong (4) Can't say

100. feamit 3w diga a2 OF I < AR {5 e
(1) 93 =l (2) I=9 AERH (3) feomh =mEeE (4) oo e
The Lok Adalat has been given the powers of under the civil procedure code.

(1) Session Court (2) High Court (3) Civil Court (4) District Court
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®) YA fafea Hoem faftre Irie 51 FM (6 9%) F06. TRYRaheaNed S d 3a
FIERR ol HH Hed™ d H FAT I]LIM o8 AR, 38 A TES 9 WHR IR IEAH
W Foed H udgimed o TywRi Bfdey FvaEEe AfufEn-82 " A e aR FRATS H0AR
e 9 St A A Tk TH HREETST A0/ 5 T TF R e sem e T 6.

©) T I EE s fafta F3 I HUHER eI @ JYTgRHE e s Rt U
T T SR, W TR T WATYE SHEaT e ITUEERET WIT-1 HHAgTRTES T

feramaT W ST SvATEE AR
AT U9
T %. 201, T 90 T SIS SR gerd: Ta e 7
() T TaHg o 2 yavdEs fammamr
@) TS quEE (4  TiaresEe TEe

TR IPg I (@) T TR W o e, W O W N S C@)" B e
WIHETUTN ¥ 3. 201 TS IWR-hA 1 (3)"" & T U0 BHEifRd HEd q@ian AeeeE
e,

L VEONON NO)

I UG WE T Ehdio Teish TR g SAEhAIT 8 TR0l ol Tl STufaraie
N FETHRNIEHOS Gaiid age qoiq ST & qraad]. il had ®iodl yed
o T, e a1 wEY 9 auE .
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